_— /2
273 920 (15,
1. gnu is the rating for Red fuse 1. T W & for iy w1 S
2 Amps (B) 5 Amps (A) 2TPiRR @R =
g 10 Amps (D) None of these (C) 10 TR ]; ol
2. ™hatch the following : 2 ﬁﬁﬁﬁﬁﬂq i 3 m I
“ndustrial estate District e v
. Kundh 1. Fatehabad i m fq-ﬂ_l
b, Samalkha 2. Sonipat b- 1
¢. Tohana 3. Gurugram . HHTT 9 FiiTa
d. Roz-ka-Meo 1. Panipat c. e : m‘ﬁ’ﬁ
odes: d. ﬁﬁ‘-ﬂ~ﬁlm 3, Tom
a b c d 'ﬂ-ﬁ'!: 4, "{T:ﬁr;a
(A) 1 2 A 4 a b
Mz 4 1 3 X1~ g [; ':
©4 1 2 3 E?};‘i A -
; ; 1 9
(M 3 2 1 9 Dy 3 o 'I E
d.  The material used for lining of frictic 3. &=
surfaces of a clutch should have = ) Wﬁ =i TR # Tt & fon
tA) High and uniform coefficient of i — ¥ e T
friction (A) THdm A8
(B) Hj R
‘} HJII-Eh resistance to wear and scoring B) Tormra . } uﬁ:‘ a0 T,
(C) High heay conductivity O it fora 9 vfy
(D) All of the ahove (©) 359 mff e,
.. (D) ITEq o
4. Fifth generation R -
the concept of FTPSES arshaned b RIEE % ‘E 33‘21 (&l & =
(A) Microprocessor T 3Ty # —
(B) Artificial intelligepee (A) TSR
(©) Vacuum tubes (B) féfmorer S
(D) Integrated eircyits ©) TRm =
& . (D) 30z gy
Aty — 18 clutch copne; )
plate whose - consists of a cluteh 5 iy o
frictional bﬂth sides are faced with g ' 'Hmﬁ@mmmimm
i mﬂt-Ellr:li_ %Wm aﬁ.ﬁﬁ%
(A) bmg?c plate clutch A R - v R |
fﬂf) Multiple plate cluteh I . kil
(C) Cone clutch (B) THiiYF <z T
{D] Cf’fltn'fugal nlutuh '[("] ?@ k]
(D) FETTRAF Ford
The Golden Pen of T
awarded to of Freedom award 902 ETL TMead U9 FHiw fhien TEh 2020 —
(A) Maria Ressa, The Philip %! fem w2
Plnes . fefifa
(B) Jamal g (A) Tt T, @
amal Khashoggi, Saudi Arah:.
O I udi Arabia (B) ST T, S 5
(C) Jineth Bedoya Lima, Colombia (©) Gﬂﬁum;ﬁmj‘!ﬁﬁm
(D) None of the above (D) T 3 Frd
2

www.HaryanaJobs.in
HSSC Auto Electrician 1_2020 Cat 17 (16.8.2021) Paper




B.

10.

11.

12.

13.

www.HaryanaJobs.in

1 1/2020 (17
What is the materia] of cylinder bloek 2 )
{:'.'d Cast iron (B) Bronze 7. ﬁﬁaﬁh Eag: wd
(C) Brass (D) Zine alloy ;{1: TR (B)

: ) i (D
Wluch among the following award s . ) fo fay Ll
given by Haryana Gowt. for jjfe time ”E"?-'"ﬁ*h-mwmm
Eﬁﬂ!nhutlﬂﬁ In sports for men ? am w a; ra—q ﬁ?'ﬁ ﬁ Wiﬂ'éﬁ' m ai
(A) Dronacharva Award  fom w z 7
(B) Vikramaditya Award ' A E e iadh
(C) Maharana Pratap Award :f; TR
(D) Ekalavya Award il &
(D) U] qTEhT s

A number consisting of 2 digits is 4 times i . o - ?r:‘
the su m of its digits and if 27 is added to @ E:? {[ﬂﬂm?aﬂ gﬁm sﬁﬁ ?ﬂﬁ E3 1!1; f}f fﬁ
it, the digits get reversed. The number is X el 24 g sl éf ATS] ST B, A1 :
(A) 27 (B} 63 ) 27 = :1 )

3 i - {B} [13 ":,-f’"
(L) 36 (1)) 36 (a2 (1 6 3 ’5
Upper deviation is the deviation which {010, F9 fogem ag famem & I 31’3.1
gives the Fal - & & 2
(A) Minimum limit of size (A) TR 1 a9 Jim :'3,‘."-.
(B) Maximum limit of size 1] HIHR Ft wfowam dim \\@
(C) Both (A)and (B) (C) AT (A) 3T (B)

(1)) None of these (D) Hﬁ A a?ré T

The oil pan and the lower part of the

A7) 7ot o fdter setfas 3 faerst fiokt 1

evlinder block together are called the / wH HY _ Fmem 2
(A) Piston ring (B) Cyhnder liner (a) fza fm By For
(C) Piston pin (D) Crank case (C) Ta T (D) F% &1

utility is used to create the 12.
-._'_'_ﬂ_ .
copy of the complete or partial data stored

in a disk or CD on any other disk,

(A) Backup

(B} Antivirus

() Compression

i1 sk defragmenter

In Haryana, Hathni Kund Barrage is
located on _ river.

{A) Saraswati
(") Sahitu

(B) Yamuna
(D) Dohan

-3-

13.

___ gfefaA w1 oammm e e
2 6 wfafafy = % foro fopm s R
(A) HaRaTq

(B) Ufarmy

(C) FUIA

(1) e e

m1ﬁ’ WA TN W
(A) BT (B m

(C) ey (D) 2R
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4. Which of the follow Ly

three fact A -
mugt he Present s thay | gy fpafafee d 8 hiv- A7 M )
(o conting 1. : u;:,. I::?lnltltlutlnn for & fipe F7A T & e FER ‘n’!ﬁ Lz ﬂﬁm_ 7 '|.
(A) FIJE_L Heat, Uxvgen {A) ‘ﬂ:l' FeA1, ArFTIA Il
{H]‘ ]"111L'!I, HI'IIL E‘Hrb'-ﬂ'H!IUHII{lL‘ “—]] !'!FF, 1, qilil:'. mm I‘
(C} Fuel, Heat, Hydrogen () #F' FHl, HEET |
(D) None of these {amn il | w13 - |
15. A moncy bl can be imtroduced 16, U Wm W T g ||
(A) Only in Lok Sabha (A) T AT T G
(1) '[]ﬂ].]-' i H-“j_,‘u'ﬂ Hﬂhhﬂ {B_:l whele] T 7y I& |
(C) Only in Council of States (€} ﬁﬂiﬁﬂ'ﬁ i 4 ll
(I None of these (1y) §0 @ 1§ lg
16.  The hydraulic jack is based on which of 16. Fﬁfﬂ?’ﬁi L ﬁqﬁ"fﬁﬁ R s o I
the following ! AT # 7 _ '
(A) Bernoulli's principle (A) T =1 fogma
(B) Pascal's lnw (B) TR e _
(C) Archimedes’ principle (L ifhfoda = fHZ,"IT-!
(I3 Hoyle's law ;13}% #1
17. ln}gluiih district of Hapvana, manganese N wfam & e = 8 frds 9T T R 2
1= found 7 qgm
(A) Mahondragarh (B) Gurgaon (A) Weg (B) T2 L
() Hisar (D) Karnal () Temm (1) FE= .
goomd et s gy 1Y
18. Identify the relationship between the 3 TEH Fig q <l A & AAY &t b *
two numbers in the first pair apd¥find _/ TR A w=n T | Ej ;r- ﬁf ‘
the missing numbers in the sedind pair, 16 GR+ 36 - A o
16:68::36: Rl al . L e 8
(A) 210 (B) 216 (A} 210_- B 216 o= R
() 222 (D) 226 (€) 222 (D) 226 .%23 af
T,
19.  The crankshaft is made of the following | 19. e f=fafan amf 3 an 2 -~
{f-:?tiz:iji:vf step] I-II.'.J = :ﬂﬁ
(B) Nickel chrome steel () e ﬁ?rq .
(C) Nickel chrome molybdenum steel (C) Tt wm Aiftregm e
(L0 All of the above (D} IFTF J4
20. What should come in place of gquestion 0.\ w1 ' o0 % = o Fom ¢
9 - :
mark jiﬂ-ﬂ.‘rﬂl -?15_,.]*:],',\1
“[D| M rT1 b m‘:rmlw
FEIN[T] Sgany
: ; ; \
(A) W (B) X (A) W M X
(C) V (D) U (C) ¥ )y
-
A B D BF GH 1T el M fug
I S £6 7T 8 Qe V) 1D edfirpa )y
ST VY W M



22,

24,

25,

27.

' ra] ted 1
" repigg,

'y
g

Toe and Piw g

ne P8Iy
¥
' Voltage fnd YeSistanga

Ty n'zalﬂtﬂ“{'ﬂ a
. ntl ¢ ']
¥ urey Tl

uf i
u;!‘the l‘ulluwmgqia

CI18 a4 wilan
I¥ang ife

(B) Badkhy)

(T Karny|
AMope i

,‘HITHIJ.;A K e }'If! FHH

OWing istpiog
A8 the least

of
Yatg umbey of Gra
{-l'iL! [.. r

m
(B }.’anfhkulu
(I Fnrnl:ll}ud
ding to cim:uhur i
; L Wrmuln, Hep
Was Silh-lh‘r'idi'd mto _i H g

———

By 1
(Dy 4

(B) 660 me
(1) 990 mg-
Which chise]
Erooves ?
(A) Flat chise]

(B) Weh chise]

(€} Half round nose chisel
(D) Diamond point chisel

18 used for cutting oil

. @ famous lake of Haryana was
mentioned in the 11

Entury memoirs of
Al-Beruni called ‘Kitab-ul-Hind'

{A) Damdama (B) Badkhal

(C) Brahma Sarovar (D)) Karna

21,

22,

23.

24,

26

il

M S
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¥ % i -4t fagm o
Hifiun § -

fr\ihgﬂﬂm.mml“ﬁfi

B) T3 wm, dterw 3t wfaisn
(C) Yo wm, dreom s g
fr}'pﬁ?%a,wﬁﬁumﬁqammm

(A) 330 mg-
(C) 156 e
T & E ey
o s 2 4
(A) %2
(B) = B:H

(C) BT 133 e o
(D) ETme vz 55

ﬁ%%’qﬁmﬂ:ﬁmw

(A} Foem
(C) o/ B/
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28,

9.

30,

a1,

i

4.

W ?i-_:hlnl'thu following statement/s given

wlow infure true about air pollution

L. Air pallution causes varous diseases
n.ﬂmﬂd to respiratory, nervous and
cirenlatory system.

<. Aur pollution can also cause acid rain
() 2 only

(1) 1only

() Both 1 und 2

(D) None of the above

Wha identifiod the Sanctuary Potential of
Sultanpur Nutional Park of Harvans ?
(A) David Attenborough

(B} Salim Ali

(C) Peter Juackson

(LY Steve [rwin

In a certain code language BOARD' is
written as 53169 and 'NEAR' 18 written as
2416 How 12 'NODF written in that oode ?
(Al 2804 (B) 2394
(C) 2694 (I 2934

Which bearing vsed in fly w]wu_,t:fmil
water pump

{A} Ball hearing

(B Roller bearing

(T MNepdle bearing

(I Taper roller bearing

__iaa special high-speed memory
made up of high-speed static RAMa.

(A} Read Only Memory (ROM)

(Bl Programmable ROM (PROM;

() Dynamic RAM (DRAM)

il Cache memory

Who plundered the peacock throne of
Shah Jahan ?

(A} Timur Lung

(B) Nadir Shah

i) Ahmad Shah Abdali

(11} Mone of the above

‘Gilgamesh' is a epic of

iR Greeks
(D) Mesopotamans

(A) Egvptians
(C) Mayans

28.

29,

30.

3L

33.
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e ) - R A 5
gl : ,
1 amg{qﬂ]'ﬁﬂq, ﬂﬁﬁﬂm T
2, vy g 8 o o 1
(A) ¥ 2
LH}EEI?H
() 1 #HLZAT
1y 3 A & 1 7 5
mﬁgmmg”ﬁ“wﬁ '
{r\?%ﬁ!m
|'HIIH#|“3Fﬁ
[ll;‘ﬂ'ﬂi‘fﬂﬁ

()&
) g ST BOARD' 1 53169 31

NEAR #1 24 1 forea st #, a1 3¢ ¥ 5
NODI &1 71 feren s

(A) 28494 By 2394 ,

() 2694 (D) 2934

Gems &te off A T A fem SR &
T R AR v
r_.—*.rill'?l%ﬁﬁ‘_‘*

s A R WA F
faoms 3= fa oorft 2 |
(A fiz e e (ROM)
(B) WTTEE T (PROM)
() EfaE W DRAM)
(1) &7 g

TR SRl o g A F R e A T ¢
1.-"!.]#'13??

(B =feT e

(C) 37w 9w vyl

(D) Tt & | =8 T

e e wEE R 7
() TeEm
() "
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— __ia . ;
stendy hﬂ:::n::ﬂ!:qrhﬂmm nyspeed | g5 ffern sl sifmm nf % e fed o
Speed g me and maximum nfa w5 oo & fﬁ"!_ I
() Injacte * JowH R .
© o o lgi l:uml pump (A) T2t (B) #T8 Ty
5 ) Fip (C) Tt (D) . 5w .
Hase p X .
'lm'r'meda::I' @ French Mathematician | 3¢ W1 & o w4 A 3w eaz @
(A) Logarigpe——— in 1642 i # fm o |
©) Napiar's Bop. (B) vemirem
D) Adding machine ) e iﬁ
o (D) w9l e
hich of the following Staee sh ' 3
boundary w1 Haryong 2le sharesits | 37, ﬁnﬁsﬁaﬁ%m-mmmmm
A} Himachy, Pradesh F9A iy = d v
:[m ::“-'-Hm-.ha] Pradesh {‘E?} ﬁ“ﬁﬁm
‘j ' Illﬂr:ﬂ,m - { =
(D) Sikkim *ch firatrem
(D) faafarm
Which scheme of Harvang O
: 1 A LOVE, promaoges . 2015 N HTET -8 T
't_’m El-:}nmmn of loea) vaneties of treey :l}a\\& m:?mg ﬁmﬁm‘{%m
(A) Har Shahar Haryal; Yojang Q@ 2 o
(B) Har Pah ali Yo SR kil
anar HHI‘} ali Yojang (B) ¥ T ﬁﬁ:“
(C) Har Ghar Harvali Yojana (Cy BT v AT
(D) Har Nagar Haryval; ‘fu@% (D) ¥ M FHAER
In Haryang B s basically 3
’Lhﬂ-n?whmﬁ consist of Ent:;:l?ﬂll:li'i ﬁli a 2 Eh‘iﬁ'_ﬂ_ _ﬁ}F: % wfs g
small fish), one coin and one arecanug T Fﬂ:ﬂi e (T ﬂﬁd‘tm WAy
{A) H:Bnl"hl (B Mﬂn'l:h {;'“ 'q’m - “r :;l\m t l
() Chanda (D) None of the abowi {(7) Tﬂ.‘l tl'l‘i T 0 R 'ﬁ 1
Which of the following testing is not the 40, faifefom i 5 WH -1 iy - Sty
type of Non-destructive testing method 2 i fafty @ E R
(A) Dye penetrant testing (A) 318 afaie LT
(B) Ultrasonic testing (H) T afiwm
() Hardness testing () v iy
(D) All of the above () e )
Western Harvana plains diffor from | 41, qhmmmtﬁmettnﬂh
[I!'l“. Eastern I{_ur}-nnn pluin hi*rilll;:;m' of e & afrend) wm & fafaw Lot s e
the presence of & number of san uniss : g 3 '
Im:any known as _ of varving t@arm&numﬁnl,m
heights and magnitudes in Western part wEa R
of the state (A} W (R W
(A) Bagar (B} Ghar d
(C) Ghaggar (1) All of the nbave () R O 7w

B B
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43,

44,

45,

46,
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Which s the mimedinte life suving care
and support

(A} First Aug

{BY Call o dewetor

() Intensivi Cirn
(I None of thiswe

The desigh or eapacity
LHIRTRT

(A The unit Pressure

. raking surfiopes

(B) The coefficient of friotion between
the braking furfaces

(L) The periphers! veloenty of the brake
m
(D} All of the ahove

dru
Which of the
angine *

LAY lnte

ol a brake dopends

betweon the

following ie the high spoed
rnal combusypp engine

(B) External combustion engine

(C) Both (A) and (™

(D None of those

Which one of the

wrong about Supreme Court of [é?ﬁi ?
(AN It ean tranafer

judges uf_‘ﬂsifh
Cort, \y
(B) Its decisions are binding on ]
Courls.

{5 Can move (AR

& from any court ta
neelf

(I 1t enn'y transfer cases from ane
High court 1o another.

Calipers are ysed with steel rules whoge

Becuracy is limited g

(A 0,01 mm (B) 0.1 mm

() 0.5 mm DY 0.05 mm

This is an instrument with only o single
string which is attach .
bamboo. What 15 the instrument eglled ?
(A) Fktara (B) Baranm

iU Been (D} Khanjari

ed to B piece of

13.

4.

>

C\V

-;:’

O
following statemsfdis | 45,

16,

47,

() W g & e g T
ff%_ﬁiﬁﬂmﬁ*ﬁwﬂw
H"riﬂiﬁmqﬂmm
.n;mﬂﬂ :
frer 4 4 FR-m 359 nfy aen 3@ R
(AR 28§

) TR 7 T

() @ (a) 3 ()

(D) TR A &g T

Feferfen 3 8 F-m e wia &

HaTes AATEE ¥ Hau 8 em § oo

(A} TR T2 AT F i )
AN A R

() wh vk ol =i ™ e

() fat ' e @ e e am

e ww R

(D) U F= A | RE A Amen
TATARA T w2 g R

Wmmtﬂﬁtﬁﬂﬁﬁmfﬁm
a2 o) e & Hifira
Bt R |

(A) LO1 mm

(B) 0.1 mm
(DY 0.06 mm

ﬂa%ﬁﬁ?ﬂwuﬁﬁﬁmm—rﬁm
RICELENECE S e
(A} FHAT (By T

(C) & (1) =i

(Y 0.6 mm
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6 A cell 18 an alegt

44.

0.

al.

52,

53,

a4,

a5,
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enaiatiiig of hemical dovies

(A) :qu #lectrolytes and an olectrode
(B Two eleet rudes and an eloctrolyie

() Two electrudos gnd two electrolytes
(13 MNone of these

What is the namp of the tag]

== i

(A) Flat scraper
(B) Hook seraper
() Half round ST
(N Triangubar sceg per

If 1 18 subtractogd from

the last digt of
cach numbers below, how many numbers

thus formed is divie a9
474 GhY 82| ucﬁ;ﬁﬂl?e oy

(A} One B} Two
(") Three (D) Four

— emit pollutants directly '
the engine into the ahnﬁaphﬂr{._' m

(A) Fuel tank and carburetor

(B) Fuel tank and crank cage’

(C) Crank case and exhaust Ryatem
(1) Fuel tank and exhaust

Which of the following architects planned
the City Museum in Chandigarh ?

(A) Le Corbusier  (B) Frank Lloyd
(C) Renzo Piano (13} Norman Foster
___ are the isotopes of carbon

() 5C 0 By 'iC,:C

(C) G, 5C (D) ¢, C

The mean of first 10 natural numbers 18
{A) 55 (B) 5.5
(Y 5 (I &0

In KMP Expressway of Haryana ‘'K
atands for

(A) Karnal (B) Kaithal
() Kundhi (D) Kurukshetra

1/2020 (17)
:I:l; |
(A) T gewgIETE SN U TOETS
r?i:ﬁ%ﬁ i
() &) geragrs 3 A
(L) % &

49, 7F A R 7

51. nqqaﬁai‘r;-ﬁﬁmﬁmm
T FegTaa wad £ |

(A) % 3w
ﬂmgﬁaﬁ}ﬂtiﬁiﬂ

() e Fm 3f o foem
(1)) & 3 ¥R wae
52, frefefan 4 @ fem amasn 3 =g
TR AUETEE & g 4w v
(A) = FrEfam (B) % wiag
() 51 frgm (D) = wE

59. WA HOT (HEE) R
T W) GG (B) 10, e
(C) C. 50 (D) e, e

@ TYH 10 WIS AEa W o R 2 9
— (A) BB (B) 5.5 |
() o (DY 50 a (wa

55, FIAMN % . veEa § (1o
e R
(A) TIATH (B %u=

() Foeeh () #Ha
9. A
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60,
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62.
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Whay

I‘llljngn B up,
(4) m.-’:-.?ﬁr“l-iun':- HUthing apecd in
() I/ ! (B

Mg } mmirey

e H ) mm/min
Moty NG order of pege 4
o h‘ th Acid i reactivity of
(1 .-‘._]EL zlu b A0 Ry
(© p n>Mg = Fe

I >dn> Al > Mg
D) 20> Mg o> py
Wh: i

hen g biased coin ju tossed, the chance of

Hetting hopd jg 75 Ce
of not getting ?_u;;:‘"r find the probability

(A) & 1
s (B 5
c)
i) *_l (I} None of these

When the frictional force is great enough
to apply the brake with no external foree,

then the brake is said o be \fb(\ e T i
(A) Radial brakes S Wi O
(B) Self-energizing brakes ‘2‘ (B) @&~ S
() Self-locking brakes $$ () ?Fq:'"i'”ii !
(D) Axial brakes & (D) 3t 8
£ 241 :
'T'jm modulus of the complex number ﬂ yfa 3_; 1 AT 2
2+i
— 13 i 1
Sk 1 (87 ® =
(A) E (B} E
fa
1 2 1 -
%) = - by L -
(©) 3 m}ﬁ,a © 5 “43

Equal volumes of all gases at the same
temperature and pressure should contain
equal number of molecules. This 18
d law.
{A) Avogadro's
() Lavoisier's

(B) Gay Lussac’s
(I3 Dalton's

In car conling system a pump circulates
water through the engine and through
the pipes of the
(A) Radiator

(') Capacitor

(B) Fins
(D) None of these

=11}

oft Al % B WA W, R A i

61.
TN 2 T ] ) e T E) e |
7% wmfmR
(A) ThEl (1) T FEAT
() erafae (1) e

62. *1 Ffem farem 4 v g g9 & uem
ﬂaﬁ?’fﬂ_ i:m#.mwnﬂmﬂ
peis o kN
() gz B fr=
() AuTfa (D) %8 |/ &% F¢

i
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83, According to Vayu Purana, which of the
following place of Haryana is believed as

the barth place of Lord Hanuman ?

(A) Hisar (B) Karnal
(C) Kurukshetra (D) Kaithal

Which of the following is the Fusion
welding ?

(A) Thermit welding
(B) Gas welding

(C) Electric are welding
(I» All of the above

65. The Poona Pact was signed

between Mahatma Gandhip and
Dr. B. R. Ambedkar in

(A) 1932 (B) 1934
(C) 1929 (D) 1931

66. Consider the following statements about
Arvind Kejriwal.
1. He was awarded with the Ramon
Magsaysay Award in 2006.
2. He is national convener of Aam
Aadmi Party (AAP).
3. He was a former Indian Administrative
Service Officer.
Which of the above statements are correct ?

(A) 2and 3 (B) 1and 2
(C) 1and 3 (D) All the above

67. What is the name of the file ?

Hand file

(B) Rasp cut file
(C) Single cut file
(D) Curved cut file

(A)

1/2020 (17)

63. am IR, Freffia & efamm &
R T Y W THH F A TR A
A ?

() feam (B) TG

(C) aﬁ:ﬁﬁ (1) Fue,

frferfiga i @ HA-m wEA afegn 2 7
(A) ufifz afeen

64.

65. TR WA 3 2. A, W, FESH F
19 o A9z § A g fee o g 7
(A) 1932 (B) 1934
() 1929 (D 193¥
sptfae SoiaTe o Tag 1 fefeted e
W faam =+ |
138 2006 1 ™A TR FEE 3 T
fe |
0. a8 3 e ol (v, jw e
TI5F 2 |
3, 9% UF T4 WA FeIEf den
FifereeTd o |
T P FA BT B 7
(A) 23T 3 (B) 13 2
(C) 13 3 (D) Ja w4l

66.

87. maaiﬂm‘ﬂ'l%?

(B) TR e HIEe
(C) e #2 wEA
(1) F5e H g

-11-
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68, Which amon

: the following it
W Personalit
Hﬁ;ﬂﬂtg%}ﬂ the father of folk theatre il:::

(A) Lakhmj Chand (B)

(C) Daya Chand Ali Baksh

(D) Mukesh Yaday
~——— Computers are

Personal Computers,
(A) Minj

(C) Super

Which of the following type of brake is
commonly used jp raillway trains and
tram cars 7

(A) Band brake

(B) Shoe brake

(C) Band and block brake

(D) All of the above

69.
also knnwn Aas

(B) Main frames
(1) Micro
70.

If A means %', B means '+, CC means ',
D means ' then 18 A2B64C8D 10is

(B) 38
(D) 31

71,

(A) 34
(C) 36

72. ‘Altamira’ is a cave site in
(A) Italy (B) Germany

() Spain (1)) Portugal

73. During 1789 — 1794, Delhi and Harvana
were ruled by

(A) Madhavrao Seindia
(B) Mahadji Scindia
(C) Rajaji Scindia

(D) Raja Umed Singh

Who among the following was the first
ever Indian to receive the highest civilian
award of the country “Bharat Ratna” ?

(A) Bhagwan Das
(B) M. Visvesvarayya

74,

(C) Chandrasekhara Venkata Raman

(D) None of the above
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~  (B) 38 b

N Th
f () 36
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(A) 3t (B)
(C) ¥ (D) g
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(A) HTaETE Taiam

(B) meresh fafirn

(C) st fafaan
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(A) YITETH 2|
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76.

7.

78.

79.

80.

81.
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the then N
took part in ¢ awah of Jhaii
British rule. he revolt of 1857 agu‘fﬁ;‘;
(A) Nahar Singh

(B) Samand Khan

(C) Abdur Rahman K
(D) Salim Alj n Khan

The highest permissible lemperatures
rec:c:mmended for leather, fibre a.nd wood
facing brake linj ng materials are

(A) 65 - T70°C (B) 90 - 105°C
(C) 180 — 225°C (D) 120 - 150°C

Find the power of a coneave lens of foeal
length 2m.
(A) -2D

(C) -0.5D

(B) —1D

(I —0.26D
Haryana State was formed on the
recommendation of

(A) Shamlal Committee

(B) Sardar Hukam Singh Committee
(C) Chand Committee

(D) Neki Ram Committee

Which is the physical hazard ?

(A) Smoking (B) Vibration
(C) Corrosive (D) Radioactive

Efficiencies of wire rope socket with
Zine is

(A) 100%
(C) 97.6%

(B) 99%
(D) None of these

Which of the following river in the
southern Peninsula has the second
largest river basin covering 10 per cent
of the area of India ?

(A) Krishna (B) Godavari

(C) Mahanadi (D) None of the above

Who was the First Chief Election
(Commissioner of India ?

(A) S. P. Sen Verma

(B) T. Swaminathan

(C) Sukumar Sen

(D) None of the above
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__ g o & aceaE 9 A fafem
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(C) TFHH @H
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76. VgL, HIEW 3 I3 Hfém 3k A F
feru sreifem sewam e auaE awef
Vondutbebe: &'
(A) 65-70°C"
(C) 180 - 225°C

77. Fied S€E 2m F UEH FEae «@ 6 nfFd

5.

(B) 90-105°C
(D) 120 - 150°C

A |

(A) -2D {(B) —1D

(C) —0.5D (D) -0.25D
78. damnTsg i el s T

[A) TTEETe |fafd

(B) wer 7% fire afufa

(C) =t wfmfa

(D) ==t T afafa
79. ST o - R 7

(A) THIH (B) FH

(C) HETH (D) tearend
0. Fi % @iy 9 19 Hiche o &AM

. 2|
7D (A) 100% ®B) 99%

(C) 97.5% (D) T | FE T8
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In the ;‘ul]uwing Question, 5

sentones has
N @ven ip Active (or Py g

83.

S81ve) voice.
I.Ilt of the fyup alternativog Suggested,
:l: et the one whyjcly St expresges the
ame

Sentence in Paggive {or Active)

[ saw him leaving the house,
(A) He had bee

T seen leaving the
Olse,

“t8) He WUs seen to be leaving the house.
(C) Leaving the house he was seen by me.
(D) He was spen leaving the house by me,

In the following quastion, a sentence hag
been given in Divect/Indivect speech. Oyt
of the four alternatives suggested, select
the one which best expresses the same
sehtence in Indirect/Direct speech.
“What did You eat for breakfast today *'
the doctor asked the patient,

(A) The doctor asked the patient

whether he had eaten breakfast
that day.
(érn’ The doctor asked the Patient whaf
he had eaten for breakfag; that'day,
(C) doctor usked the patient
whether he has caten breakfhst
that day.
(D) The doctor asked the patient
whether he was eaten breakfaat
that day.

84,

In the following question, choose the
appropriate word from the given options
to complete the sentence. The options
given are confusing words which may have
similar meanings. Select the option which
best fits the meaning of the sentence,
His account is g rendering of
what actually happened.
(A) factious (B) fragtinuﬁ
(Cifactitious ( Ctitious

Add suitable question tag to the following
Statement.

[ can help you, (3
(A) can't | (B) can |
(C) were | (D) could |

817.

88.

89,

90.
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(A) HHE

(B) =iy

(C) SAeiFn
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(C) Aot
(D) %79 7 %7 7

-14-





